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                                                                 This paper consists of 11 printed pages
SECTION 1 (50MKS)
ANSWER ALL QUESTIONS IN THIS SECTION
1.	Evaluate									                 (3mks)
-2(5+3) - 9÷3+5
-3×-5+-2×4








2.    Five people can build three huts in 21 days.  Find the number of people working at the same 
       rate that will build six similar huts in 15 days.					                        (3mks)














3.	Expand and simplify 								  	                 (2mks)
               4(q+6)+7(q-3)





4.	A shop keeper sells a shirt for Ksh 350 thereby making a profit of 40% . Calculate the 
           buying price of the shirt.							                              (3mks)










5.	Nafula broke three beakers and four test tubes and Munyao broke two beakers and five 
           test tubes during practicals in the laboratory.  If Nafula was charged Ksh 560 and Munyao    
           Ksh 490 for the breakages, find the cost of one beaker and one test-tube .		               (3mks)










6.	Machine A,B,C and D give out signals at intervals of 30 seconds, 50seconds, 24seconds 
            and 27 seconds respectively.  At 9.00 am, they all give a signal together, find the next 
            time they will give a signal together.						                            (3mks)







7.	Patrick spent of his salary on food,   of the remainder on electricity and saved the rest.  What fraction of his salary did he save? If he spent Ksh 1200 on food, how much did he spend on electricity?.								                                          (4mks)
 





8.	Express 1470 and 7056 each as a product of 
(a) Its prime factors
1470 										                    (1mk)

7056 										                   (2mks)


(b) Hence find the GCD of 1470 and 7056						                    (1mk)

9.	Find the value of 								                                (3mks)
 (
85
0
) (
125
0
)	








10.	Express the following reccurring decimals as a fraction 			                             (3mks)
0.1





11.	Use the tables of square and square roots to evaluate
(a) 25.32										                   (1mk)

(b) 354 2										                   (1mk)

(c) Hence evaluate   					                              (2mks)



12.	The length of rectangle is three times its breadth.  If its perimeter is 24cm, what is the 
             area of the rectangle.  								                (3mks)








13.	Find the ratio  p:r if								                            (2mks)
p:q = 1:4, q:r =3:2




14.	Write the following as a single fraction in its lowest form 				                 (3mks)
	 +  - 




15.	Use a ruler and a pair of compass only in this construction
Construct an acute angled triangle ABC such that < ABC =450, BC = 9cm and AC =7cm.  Measure AC.									                                        (3mks)














16.	A tourist arrived in Kenya with sterling pound £4680  all which he exchanged into Kenyan money.  He spent Ksh51,790 while in Kenya and converted the rest of the money into US dollar.  Calculate the amount he received in Us dollar.The exchange rates were as follows.	   (4mks)
                                    Buying 		Selling						      
       US$		 65.20			   69.10
Sterling pound £        123.40			 131.80













SECTION B
ANSWER ALL QUESTIONS IN THIS SECTION (50MKS)
17.	Themba is y years old.  His sister Carol is 7 yrs older than him. Their father is twice as old  as Carol and their mother is 	three times as old as Themba
(a)Write down an expression in terms of y for
(i)Carol’s age 								                     (1mk)





(ii)The father’s age							                     (1mk)




(b)The sum of the ages of the four members of the family is 112.  Find 
(i)Themba’s age.									     (3mks)





(ii)The difference between the mother’s is age and Carol’s age. 	                  (3mks)




(iii)The father’s age in 12years time. 					                   (2mks)




18.	A sales woman is paid a commission of 2% on goods worth over Ksh 100,000.  She is also paid a monthly salary of Ksh 12,000.  In a certain month she sold 360 handbags at Ksh 500 each. 
(a)	Calculate the sales woman’s earnings that month 				                  (3mks)




(b)	The following month, the sales woman’s monthly salary was increased by 10%.  His total earnings that month were Ksh 17,600.  Calculate 
i)The total amount of money received from the sales of handbags that month 
                   (5mks)













(ii)The number of handbags sold that month.				                             (2mks)












19.	Using a ruler and a pair of compass only construct
(a) Line AB=7.2 cm, angle ABC =300 and BC=9.7 cm.  Using line AB, divide line  
     BC into six equal intervals and measure the length of three intervals. 	                    (5mks)
















(b)Construct a regular hexagon of side 4cm. 					                     (5mks)















20.	The corner points A,B, C and D of a ranch are such that B is 8km directly East of A and C is  
       6km from B  on a bearing of 300. D is 7km from C on a bearing of 3000 .
      (a)Using a scale of 1cm to represent 1km, draw a diagram to show the position of A,B,C and D 
                                                                                                                                                  (4mks)



















(b) Use the scale drawing to determine
(i)	The distance of A from D 							        (1mk)


(ii)	The distance BD in kilometers 						        (2mks)



(iii)      The perimeter of the ranch in kilometers					        (3mks)










21.	 Complete the table for equations of the line  y=  +4 and y=-3+
y=  +4
	x
	-2
	0
	2

	y
	
	
	


(2mks)     
y=-3+
	x
	-2
	0
	2

	y
	
	
	


(2mks)
(b) Using two big square to represent 1unit on both x and y axis , draw on the grid provided the lines y=  +4 and y=-3+ 						                         (5mks)

(c)Use your graph to solve the simultaneous equation 					(1mk)


2

